
����� 3 
�������	
��	
�
� 

  

�.1 ��������������� ���������� 
      �����������	 
��	 
�������������
 Vector Autoregression (VAR) ����������������
����� �
������!"���#�������	�$�� �%$�"&�"���'� �
����(���$�)�� *�+"���'�"&�
 ,  �%�����
'�'-�"��
�'�)�+����������
 VAR ��	���.����#���������$/�$.��0�1�
"���'�"�$ !�2��3�+)�.
 �%�
'����������
��+
��'������"� (General Equilibrium of National Income Model) ��4� 

��������
�3�+)�. IS – LM 1�
/��������/� (Keynesian) 5�%

��$����'��+3�"���������
      
�3�+)�. IS – LM *�+$�������"���'�������	�$���1��
'��6�
������������&�+�.4%�������*)�"�$

������+1�
 /������# /3���0'��+� (2548) ���$���������������������
�3�+)�. IS – LM  �'- �
��������(�������'� �"�$������$���1�
 Mundell ��� Fleming (196�)   �%
��.�7��������
1�
 Keynes (1936) ��6�
��������/&
����������1�������.����#���
���������/�������
'��� � �����"������'��%+��
��"�� ��� �	

��$�������6�
�����1�
����/�������'��� �"�$

������+1�
 Varian (199�) ��� $
�� ���
��+� (���3) �1��$�.����#�����������
 IS – LM   

 

      3.�.� ���������������!������"
: ��������� IS – LM  

   .����#�6�
�����"&�
 , ��"��������" (Product market) ��4��/�� IS ���"�������
�� 

(Money market) ��4� �/�� LM ��'�����
'���+6�
�����"&�
 , 
����& 
 

   1) #
��$�
��������%���&'�������
(*+ (Consumption Expenditure Function) 
       �������&�+�.4%�������*)������	 
���%
1�	��+8&��� ��+
�� �%����&�+
�����
 ��4� ��+
��/3 0�
/&���3��� "�$������1�
/��������/� (Keynesian) ��	�  �����6�
������������&�+�.4%�������*)�
�'-� 
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 ��������	������*)�+�
1�	��+8&�������������8 ����*)� ��4� ���������/�����������+ 

��4%�
�������/������'- �'����+��������������*)� �$4%�����/�����/8
1�	��� ������&�����&�+�����
���*)��.�%$1�	����/&
������8 ����*)����*)����

�� "�$
������+1�
 Kajonwan P. Itharattana 

(19�1), Bundid Nijathaworn (19��) ���/3��"� 0���0���
��� (����) ��
��	� ��
���&�6�
��������
���*)� �4� 

 

       ),,( 0 ttt CPItYCC �  

 

�$4%�       CPI    �4� ���������/����� ��4� ����������8 ����*)� (Consumption Price Index) 

 

���"�$ !�2��
���6� � �
�����3' ��5�%
�'- ��
���6� � �%���������
���1�
"�� 3� (Cost-push 

inflation) *�+ �%�
'���� ���.����#��
���6� ����8�������������8 ����*)� ��
��	� ��
/�$������    
�
���6� ��0���+����������8 ����*)�� �
�� "�$
������+1�
 '��/
�� ������9��.
�� ���        

�����3� 
"���.
�� (��3�) ���)+��"� ���� � 3�1� (25�7) 5�%
����.�%$1�	�1�
������	�$���'-�
/���"3���%
 �%�� �����"�� 3�������"1�
�8 ����"/8
1�	�  ���������/�����/8
"�$ /&
�� �����         
������*)�1�
'���������
 �&�����&�+��������*)��-�����
 ��
��	�6�
������������&�+�.4%����
���*)����'��%+��'-� (/������# /3���0'��+�, 2548) 
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� Oil
tt

Oil
ttt P

C
t
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Y
CPtYCC   (3-1) 

 

�$4%�        tC       �4� �&�����&�+��������*)� # ���� t  
       tY        �4� ��+
����4���+
��'������"� # ���� t  
       0t    �4� )��� �%
$&1�	��+8&����������+
���3��� 

       Oil
tP   �4� ������	�$����'��� � # ���� t  

 

   2) #
��$�
�������-� (Investment Function) 
       "�$ !�2�1�
 Keynes 
�����3�����+
��'������"���'� '���3����'-�'����+ �%/����9/3�
"&�����
 3� ��� �	
�������(��/"����*����//�� (Neo-classic conomist) 
��������$/����9"&�
��"��������	+�&��'- �"���'� �%� ��������������
 3� �%"��
��� ��
��	�  �����6�
���������
 3��'-�
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          0,0;),( �
�
�

�
�
�

�
tt

ttt R
I

Y
IRYII    (3-2) 

 

�$4%�        tI   �4� ����
 3� # ���� t  
       tY       �4� ��+
����4���+
��'������"� # ���� t  
       tR   �4� ��"��������	+ # ���� t  
      

   �) #
��$�
��������%��/���
0��� (Government Expenditure Function) 
       �������&�+1�
��(��� �'- ��������&�+*�+��/�� �%
$&1�	��+8&�����+
��'������"� �.���
��(���������&�+�
��"�$�*+��+ �%��

�� ��4���&��
���&��������&�+1�
��(����'-�"���'����

�*+��+ (Policy variable) 5�%
1����������&�+���8�������*�+��(��� ��
��	� �������&�+1�

��(�����
�8�/$$"����$��&��
 �% 
 

   0GGt �        (�-�) 
   

   4) #
��$�
����5%���� (Export Function) 
       ���/&
���
$&$����$/�$.��0�����������+
��'������"� "�$������ Keynes (1936) 

�+&�

��-"�$"&�$� Mundell ��� Fleming (196�) 
��$����.�7��������1�
 Keynes (1936) �&�
$8��&�/����� �%��/&

'"&�
'��� ���	�$����$/�$.��0�������������/�������'��� � ��� ��"��
����'��%+��'-����� ��
��	� ��
/$$"����$8��&����/&
���1�	��+8&������������/�������'��� � 

�����"������'��%+�� &���	� *�+���'����+�4%� , �
 �%  �����6�
��������/&
����'-� 
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�$4%�       tX   �4� $8��&�/�������� # ���� t  
       tP   �4� ���������/�������'��� � # ���� t   
       tE   �4� ��"������'��%+��
��"������&�
'��� � # ���� t  
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   5) #
��$�
��������/�� (Import Function) 
       ������1�
 Keynes (1936) 
����&���&��������+
��'������"��'-�"��������*�+"�

"&��������1��/�����  �����6�
������������1���'- � 

 

          0;)( �
�
�

�
t

tt Y
MYMIM  

 

"&�$� Mundell ��� Fleming (196�) 
��$����.�7��������1�
 Keynes (1936) *�+$�������������
��������(�������'� � 5�%
 ������������1��+ �
��1�	��+8&������������/�������'��� � �����"��
����'��%+��
��"��������+ ��
��	� 6�
������������1�����'��%+��'-� 
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tttt E
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MEPYMIM   (3-�) 

 

�$4%�        tIM  �4� $8��&��������1�� # ���� t  
       tY       �4� ��+
����4���+
��'������"� # ���� t  
       tP   �4� ���������/�������'��� � # ���� t  
       tE   �4� ��"������'��%+��
��"������&�
'��� � # ���� t  
 

   6) #
��$�
��-!5�+$/����
� (Demand for Money Function) 
       "�$ !�2����$"��
����4��
��1�
 Keynes (1936) ��	� ��&���&����$"��
����4��
��$�
� �"�3'��/
���+8& � '����� 
����& (1) ����4��
���.4%�����&�+������"'�������� (Transaction demand 

for money)  �%1�	��+8&�����+
�� (�) ����4��
��
���.4%�����&�++�$:3��:�� (Precautionary demand for 

money) 1�	��+8&�����+
����&���� ��� (3) ����4��
���.4%���-
���
� (Speculative demand for money) 

1�	��+8&����������"��������	+  �����6�
������3'/
��1�
�
���'-� 
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�$4%�       d
tM  �4� �3'/
��1�
����4��
�� # ���� t  

       tY       �4� ��+
����4���+
��'������"� # ���� t  
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       tR       �4� ��"��������	+ # ���� t  
 

   7) #
��$�
��-!���/����
� (Supply of Money Function) 
       '��$�#1�
�
�����'-�"���'����
/����� (Institutional factor) '��$�#1�
�
�� �%
�$3����+��+8&����������(���
$&$����$/�$.��0������"��������	+ �"&�3' ��1�
�
�����.�%$/8
1�	�
��4����

�� ��1�	��+8&����*+��+1�
��(��� ���1+�+�
��;��1�
0�����.�#��+� ����3�+.����
1�
0��������
 ��
��	� �3' ��1�
�
����
���������$��&��
 �% 
 

     ss
t MM 0�        (�-�) 

 

   8) #
��$�
���+�5
�+����!����� (Domestic Price Function) 
       ��/��� ���/3���# (254	) 
�����������4	�
"��1�
���'���"��1�
������	�$�� �4� ���
������	�$��'���"��/8
1�	��� ���������/�������'��� � ��4� ��"���
���6� ��.�%$/8
1�	�"�$���
"�� 3�������" �%�.�%$1�	� ���
��/���
��������
�
���6� � �%'��+3�"�"�$
������+1�
 Varian (199�) 
��� $
�� ���
��+� (���3) *�+����/�������'��� � ��4� �
���6� � ��1�	��+8&���������	�$�� ���
��+
��'������"� �$4%�������	�$��'���"���.�%$1�	���$��� ���������/�������'��� �'���"��/8
1�	� 

����$4%��������+
��'������"��'��%+��'�
�.�%$/8
1�	� ��$��� ���������/�������'��� ��.�%$1�	� 

��
��	�  �����6�
���������/�������'��� ��'-� 
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�$4%�       tP   �4� ���������/����� �%�
' ��4� ����������8 ����*)� (CPI) # ���� t  
       tY   �4� ��+
�� ��4� ��+
��'������"� # ���� t         

       Oil
tP  �4� ������	�$�� # ���� t  
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       ��
��	� /�3'
���&�����������
��+
��'������"� ��4� ��������
 IS – LM  �%
'�����
'���+ 2 "��� *�+ 

 

��������
��"��������" (Product market) ��4��/�� IS ��
��	  
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/$����3�+)�.��"��������"  )( tttttt IMXGICY �����    

 

 ��������
��"�������
�� (Money market) ��4��/�� LM ��
��	  
 

�3'/
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�
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�3' ��1�
�
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/$����3�+)�.��"�������
��  sd MM �     
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      3.�.; �-��*�&�
�	�!�����������������!������"
 
   ���6�
�����"&�
 , ��"��������" (�/�� IS) $��8'������$/�$.��0���/$����/��"�
   

���8' Dynamic simultaneous ��
��	  
 

   tttttt IMXGICY �����       (3-9) 

   Oil
t

d
tt PbYaC ����        (3-1
) 

   tt
d
t TYY ��         (3-11) 

   tyt YttT �� 0         (3-1�) 
   ttrtyt RiYiiI ��� 0        (3-13) 

   0GGt �         (3-��) 
   tetpt ExPxxX ��� 0       (3-��) 
   tetptyt EmPmYmmIM ���� 0      (3-16) 

   ty
Oil
tpot YpPppP ��� 0       (3-1�) 
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���3�+)�.��"��������" (Product market equilibrium) �4� 
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 , ��"�������
�� (�/�� LM) $��8'������$/�$.��0���/$����/��"�
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��	  
 

   sd MM �         (3-19) 
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d
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���3�+)�.1�
"�������
�� (Money market equilibrium) �4�  
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�� (LM) ��
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6�
�������+
��'������"��3�+)�.�'-� 

 

   ),,,,,,,,( 0000000
Oil
tt

s
t PEMGpmxitYY �     (3-��) 

 

      �.1.� ��������� VAR ������ ���������� 
   ��� !�2��3�+)�. �%�
'����������
��+
��'������"� ��4� ��������
�3�+)�.      

IS – LM ��$�"���'� �%$����$/�$.��0�����+8& �	
�$� �� "���'� �"&��4%�
��� .����#�"���'�"&�
 , 

���3�+)�. �%�
' �%����������$/$�3����3�+)�."��������"����3�+)�."�������
�� ��4�  

�3��3�+)�. �	
�� �	
/�
"��������3�+)�.�&�$���"�$������1�
/��������/� *�+�3�+)�.1�
     

"�������
����	� �3'/
��1�
�
��� &�����3' ��1�
�
�� ��
��	�  �����"���'��������4� �2 "���'� 

5�%
��'�����
�����+"���'�)�+�� (Endogenous variables) � "�� 
����& ���")�#<�$����$��
'��� �� �&�����&�+�.4%�������*)� )��� ����3
 3� ���/&
��� �������1�� ����/�������'��� � 

��"��������	+ ����3'/
��1�
�
�� "���'�)�+��� (Exogenous variables) $� � "�� 
����& �&�����&�+
1�
��(��� ��"������'��%+� ���������	�$�� �"&��4%�
����������������	 
��	 ���'-�����������

����� �������!"���#�������	�$��"&�"���'�"&�
 ,  �
����(���$�)�� *�+���������"���'�
����������
 Vector Autoregression (VAR) ��
���"���'�)�+��� ����� Autoregressive Process 

: )( pAR  5�%
1��$8���3��$������"���'���	� , ��1�	��+8&����&�"����
�����" ��
���&�  
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 ��
��	� ������ Dynamic simultaneous 1�
�3�+)�. �%�
'����������
��+
��
'������"���$�"���'�)�+�� �	
�$� �2 "���'� ����.4%�.����#���
���+��1�
����'��%+��'�

��"���'���	� , ��
$����'���"���'�����+8&���8' Logarithm 5�%
"���'�)�+�� �	
 �2 "�� �%���
'
/���
��������
 VAR ��'�����
�����+ 

       

 3 ��0���������# �
������+�&�+ (Expenditure Approach) 1�
��+
��'������"� (National Income) ��
� &������������# ���")�#<�$����$��'��� ��/$� ��
��	� ��
$��&�� &���� 
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   tLOGGDP  �4� Natural Logarithm 1�
���")�#<�$����$��'��� �  

         (Gross Domestic Product)  

   tLOGCE  �4� Natural Logarithm 1�
�&�����&�+�.4%�������*)� (Consumption  

         Expenditure) 

   tLOGT  �4� Natural Logarithm 1�
)��� (Taxation) 

   tLOGI  �4� Natural Logarithm 1�
����
 3� (Investment) 

   tLOGG  �4� Natural Logarithm 1�
�&�����&�+1�
��(��� (Government  

         Expenditure) 

   tLOGX  �4� Natural Logarithm 1�
���/&
��� (Export) 

   tLOGIM  �4� Natural Logarithm 1�
�������1�� (Import) 

   tLOGMD  �4� Natural Logarithm 1�
�3'/
��1�
�
�� (Demand for Money)  

   tLOGR  �4� Natural Logarithm 1�
��"��������	+ (Interest Rate) 

   tLOGP  �4� Natural Logarithm 1�
����/�������'��� � (Domestic Price)  

   tLOGE  �4� Natural Logarithm 1�
��"������'��%+��
��"�� (Exchange Rate) 

   tLOGPOIL  �4� Natural Logarithm 1�
������	�$�� (Oil Price) 

 

   �$4%�"���'�"&�
 , ����������
 VAR ��	� �"&��"���'�)�+�����8��0���+*�+������ 

�&����$�&������4��&������" (Lag) 1�
"���'�)�+����	� ��������� lag 1�
"���'�)�+���4%� , 

����������
 �$4%� thp -order VAR ��
��	� ��
����������
 VAR ���8' Structural VAR ��4� 

Primitive system *�+��� Matrix algebra �1�+������ �����
���'-� 

 

�
�
�
�
�

�

�

�
�
�
�
�

�

�

�

�
�
�
�

�

�

�
�
�
�

�

�

�
�
�
�

�

�

�
�
�
�

�

�

�

�
�
�
�

�

�

�
�
�
�

�

�

�

�
�
�
�

�

�

�
�
�
�

�

�

�
�
�
�

�

�

�
�
�
�

�

�

�
�

�

�

�

LOGPOIL
t

LOGCE
t

LOGGDP
t

p

i

it

it

it

nnn

nnn

nnn

t

t

t

LOGPOIL

LOGCE
LOGGDP

b

b
b

LOGPOIL

LOGCE
LOGGDP

bb

bb
bb

�

�
�

���

���
���

��

�

����

�

�

��

�

����

�

�

1

,12,12,12

,2,2,2

,1,1,1

0,12

0,2

0,1

1,121,12

12,21,2

12,12,1

1

1
1

 

�$4%� ...,3,2,1�n  

 

   t

p

i
itit xBx ������ �

�
�

1
0   

��4�   



 87

   tptpttt xxxBx ���������� ��� ...22110      (3-��) 
 

�$4%�   � ��� tttt LOGPOILLOGCELOGGDPx �  �4� ����"���1��� 112�  

   

   � ��� ���� itititit LOGPOILLOGCELOGGDPx �  �4� Random vector 112�  
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B  �4� �$ ���5�.���$��"���1�
"���'�1��� 1212�  

   

   � ���� 0,120,20,10 bbb �  �4� ����"���1�
.���$��"���1��� 112�  
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   � ��� LOGPOIL
t

LOGCE
t

LOGGDP
tt ���� �  �4� ����"���1�
"�������1��� 112�  

 

*�+ ,0)cov(,)var(,0)( 2 stfor��I���E� stttt �����  
 
 00)cov( ��� ifor��autoand itt  

 

��� Variance/covariance matrix of the structural innovations ��4� ��  1��� 1212� �4� 
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�����	� �8# �	
/�
1��
1�
/$��� (�-28) ���+ 1�B   �������������
 VAR '����+8&���8'���
$�"�(�� �%�
' ��4� thp -order reduced VAR ��
��	   
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   t

p

i
itit exAAx ��� �

�
�

1
0       (3-�9) 

 

�$4%�   0
1

0 �� �BA   �4� �$ ���5�.���$��"���1�
"���'� 1��� 112�    

  ii BA �� �1   �4� �$ ���5�.���$��"���1�
"���'� 1��� 1212�   

   tt Be �1��  �4� ����"���1�
.������$�������4%�� 1��� 112�  

 

*�+   ,)cov(,)var(,0)( 2 stfor�eeI�eeEe ijstnttt �����  

    
   00)cov( ��� iforeeautoand itt  

 

��� Variance/covariance matrix of the regression residuals ��4� �  1��� 1212� �4� 
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   ��
��	� /�$����1�+� VAR ���8'$�"�(�� ��4� Standard form 
���&�*�+��� Matrix 

algebra �1�+������ �����
���'- � 
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,12,12,12

,2,2,2

,1,1,1

0,12

0,2

0,1

   (3-3
) 

 

�$4%� ...,3,2,1�j  

 

   �$4%���������
 VAR �+8&���8' thp -order reduced VAR �������-�
���&� �
1��$4�      

��/$��� (�-2�) ��$��"&"���'� �%�8�������$��&�� ���.������$�������4%���8�/$$"��&��'-� 

serially uncorrelated ���+���$�'�'����
 �% ��
��	� �"&��/$���������/�$��� �%��'��$�#
�&� *�+�����0������
/�
���+ �%/3� (Ordinary Least Squares: OLS) 
�� 5�%
�&�'��$�# OLS ��$�
����#�����
��
 ���$�'��/� 0�)�.���
�/���������$��&����$�������4%����$����$���$/�$.��0�
1��$/$�������-"�$  �	
��	  Seemingly Unrelated Regression (SUR) �-
$&
���.�%$'��/� 0�)�.1�

���'��$�#�&� ��4%�
����&��������+1�
 3�/$�����$�"���'� �
1��$4���$4����� 3�'�����  

 
�.2 5<<-"
0�� 
      ����������
 Vector Autoregression (VAR) ��	� "���'�)�+��"&�
 , ���8��0���+*�+�&� 
Lag ��4� �&������"1�
"���'�)�+����	���
���"���'�)�+���4%� , 5�%
�����������	 
�'- ����
�����������
����� ��������'��%+��'�
��������	�$�� �%$�"&�"���'� �
����(���$�)���4%� , 

��$ �	
������	�$����
���+ ��
��	� /$$3"�(���$4%���������'��%+��'�
��������	�$�������"��$�
����� �"&�"���'�"&�
 ,  �	
 �2 "���'� �
$�)����'���3��� $���
��	  
 

      3.;.� =��������+���>�<
������"���<�=�"%�=�
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?@$<	��	<��!�������!
��-�
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 �0

   ����'��%+��'�
������	�$�������" /�$����0���+��
����� � �%$�"&����")�#<�$��
��$��'��� ���'���3���
�� *�+��$������ �"&����")�#<�$����$)�+��'��� ���'���3���
�'��%+��'�
�� �� �
"�
���1��$ ��&���4� �$4%�������	�$�������"�.�%$1�	� ��/&
��������")�#<�
$����$��'��� ���'���3������
 ����� �
�������1��$ �$4%�������	�$�������"���
 ��/&
��
������")�#<�$����$��'��� ���'���3����.�%$1�	� 
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������"���<�=�"%��������%���&'�������
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   ����'��%+��'�
������	�$�������" /�$����0���+��
����� � �%$�"&��������&�+�.4%�
������*)���'���3���
�� *�+��$������ �"&��������&�+�.4%�������*)���'���3����'��%+��'�

�� �� �
"�
���1��$ ��&���4� �$4%�������	�$�������"�.�%$1�	� ��/&
������������&�+�.4%�������*)�
��'���3������
 ����� �
�������1��$ �$4%�������	�$�������"���
 ��/&
������������&�+�.4%�
������*)���'���3����.�%$1�	� 
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   ����'��%+��'�
������	�$�������" /�$����0���+��
����� � �%$�"&�)�����'���3���
�� 
*�+��$������ �"&�)�����'���3����'��%+��'�
�� �� �
"�
���1��$ ��&���4� �$4%�������	�$��
�����"�.�%$1�	� ��/&
�����)�����'���3������
 ����� �
�������1��$ �$4%�������	�$�������"
���
 ��/&
�����)�����'���3����.�%$1�	� 
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   ����'��%+��'�
������	�$�������" /�$����0���+��
����� � �%$�"&�����
 3���
'���3���
�� *�+��$������ �"&�����
 3���'���3����'��%+��'�
�� �� �
"�
���1��$ ��&���4� 

�$4%�������	�$�������"�.�%$1�	� ��/&
���������
 3���'���3������
 ����� �
�������1��$ �$4%�
������	�$�������"���
 ��/&
���������
 3���'���3����.�%$1�	� 
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   ����'��%+��'�
������	�$�������" /�$����0���+��
����� � �%$�"&��������&�+1�

��(�����'���3���
�� *�+��$������ �"&��������&�+1�
��(�����'���3����'��%+��'�
�� �� �

"�
���1��$ ��&���4� �$4%�������	�$�������"�.�%$1�	� ��/&
������������&�+1�
��(�����'���3���
���
 ����� �
�������1��$ �$4%�������	�$�������"���
 ��/&
������������&�+1�
��(�����
'���3����.�%$1�	� 
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'���3���
�� *�+��$������ �"&����/&
�����'���3����'��%+��'�
�� �� �
"�
���1��$ 

��&���4� �$4%�������	�$�������"�.�%$1�	� ��/&
��������/&
�����'���3������
 ����� �
�������
1��$ �$4%�������	�$�������"���
 ��/&
��������/&
�����'���3����.�%$1�	� 
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������	�$�������" /�$����0���+��
����� � �%$�"&��������1����
'���3���
�� *�+��$������ �"&��������1����'���3����'��%+��'�
�� �� �
"�
���1��$ ��&���4� 

�$4%�������	�$�������"�.�%$1�	� ��/&
������������1����'���3������
 ����� �
�������1��$ �$4%�
������	�$�������"���
 ��/&
������������1����'���3����.�%$1�	� 
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   ����'��%+��'�
������	�$�������" /�$����0���+��
����� � �%$�"&��3'/
��1�
�
��
��'���3���
�� *�+��$������ �"&��3'/
��1�
�
����'���3����'��%+��'�
�� �� �
"�
���1��$ 

��&���4� �$4%�������	�$�������"�.�%$1�	� ��/&
������3'/
��1�
�
����'���3������
 ����� �

�������1��$ �$4%�������	�$�������"���
 ��/&
������3'/
��1�
�
����'���3����.�%$1�	� 
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������	�$�������" /�$����0���+��
����� � �%$�"&���"��������	+��
'���3���
�� *�+��$������ �"&���"��������	+��'���3����'��%+��'�
�� �� �
"�
���1��$ 

��&���4� �$4%�������	�$�������"�.�%$1�	� ��/&
�������"��������	+��'���3������
 ����� �

�������1��$ �$4%�������	�$�������"���
 ��/&
�������"��������	+��'���3����.�%$1�	� 
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����� � �%$�"&�����/�������
'��� ���'���3���
�� *�+��$������ �"&�����/�������'��� ���'���3����'��%+��'�
��
 �� �
���+���� ��&���4� �$4%�������	�$�������"�.�%$1�	� ��/&
���������/�������'��� ���
'���3����.�%$1�	� ����� �
�������1��$ �$4%�������	�$�������"���
 ��/&
���������/�������
'��� ���'���3������
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��"����'���3���
�� *�+��$������ �"&���"������'��%+��
��"����'���3����'��%+��'�
��
 �� �
"�
���1��$ ��&���4� �$4%�������	�$�������"�.�%$1�	� ��/&
�������"������'��%+��
��"����
'���3������
 ����� �
�������1��$ �$4%�������	�$�������"���
 ��/&
�������"������'��%+�
�
��"����'���3����.�%$1�	� 

 

      3.;.�; =��������+���>�<
������"���<�=�"%���+���>�<
���!
��-�
� 

 

    0�
�
�

�it

t

LOGPOIL
LOGPOIL

 

 

    ����'��%+��'�
������	�$�������" /�$����0���+��
����� � �%$�"&�������	�$����
'���3���
�� *�+��$������ �"&�������	�$����'���3����'��%+��'�
�� �� �
"�
���1��$ ��&���4� 

�$4%�������	�$�������"�.�%$1�	� ��/&
�����������	�$����'���3������
 ����� �
�������1��$ �$4%�
������	�$�������"���
 ��/&
�����������	�$����'���3����.�%$1�	� 

 
�.3 /��<O������� ���������� 

      "���'�"&�
 , ����������
 VAR  �%
�����$� ����������������	�.����#�������$/�$.��0�"�$
 !�2��3�+)�. �%�
'����������
��+
��'������"� �
����(��/"��"�$������1�
/��������/� 
*�+������������� ����!"���#�������	�$��"&�"���'�����(���$�)�����	 
��	  ���1��$8� 3"�+)8$� 



 �4

 �%$�����#��'-���3��$������+
"�$�/ "�	
�"&
"�$�/�����'�  ..�. 25�9 ��
 
"�$�/ �%/�%��'�  
..�. 255� ��$ �� 
"�$�/ 1��$8���"���'�"&�
 , ���$���� 0�������&
'��� �
 + /�����
��
�#����$���.�7������(������/�
�$��&
��"� /��������������(��������� ��� ��
.�#��+� 
��� ��
������
 ���/�����
���*+��+��� ���.��

�� ��� ��
.��

�� 5�%
 �	
 �2 "���'� 


����& 
 

1. ���")�#<�$����$)�+��'��� � (Gross Domestic Product) �$�+��
 $8��&�1�
/�����
���������1�	�/3� ��+ �	
�$� �%���"1�	�����+��������%
*�+��� ��.+��� �%��'��� ���	� , �'-�
����1�
 (��&�+: ������ )  

�. �������&�+�.4%�������*)� (Consumption Expenditure) �$�+��
 $8��&��������&�+�.4%����
���*)���)������� �	
�$� (Private consumption) (��&�+: ������ ) 

3. )��� (Taxation) �$�+��
 ��+
�� ��4� ��+���1�
��(��� ��4%�
�����+���/&����9&1�

��(���$���������-�)��������&�+������4�������&�+03�������8')��� �
"�
 (��&�+: ������ ) 

�. ����
 3� (Investment) �$�+��
 $8��&�����
 3���)������� �	
�$� (Private 

investment) (��&�+: ������ ) 

�. �������&�+1�
��(��� (Government Expenditure) �$�+��
 ��+�&�+��
�'��$�#1�

��(���  �	
��/&��1�
��+�&�+'����� �����+�&�+�
 3� (��&�+: ������ ) 

6. ���/&
��� (Export) �$�+��
 $8��&����/&
���/�������������� �	
�$�
'+�
"&�
'��� � 

(��&�+: ������ ) 

�. �������1�� (Import) �$�+��
 $8��&��������1��/�������������� �	
�$����"&�
'��� � 

(��&�+: ������ ) 

�. �3'/
��1�
�
�� (Demand for Money) ��4%�
����3'/
��1�
�
�� ��4� '��$�#���$"��
���
�4��
��$��&�� &�����3' ��1�
�
�� (Supply of Money) ���3�+)�."�������
�� ��
��	� ��.����#�
���$"��
����4��
�����'��$�#�
�������$�$�+����
 2M  (��&�+: ������ ) 

9. ��"��������	+ (Interest Rate) �$�+��
 ��"��������	+1�
0�������&
'��� �
 + 

.����#���� ����"&�
'���/)�.��&�
 # /�	���� (End-of-day Liquidity Rate) (��&�+: ���+��) 

1
. ����/�������'��� � (Domestic Price) �$�+��
 ����/����������������'��� � 5�%
��
.����#��������������8 ����*)� (Consumer Price Index: CPI)  �%������3$ 3���+���/����� *�+���
'� (�� 2550 (2007)  
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11. ��"������'��%+��
��"�� (Exchange Rate) �$�+��
 ��"������'��%+����
��
�:��%+1�

0�����.�#��+�����3
� .$����� (��&�+: ��  "&� 1 ������� /��. (USD)) 

1�. ������	�$�� (Oil Price) �$�+��
 ������	�$��)�+��'��� � �%.����#��������1�+'���
����'�	 $$�"�(��1�
�����  '" . ������ ($����) ���1" ��3
� .= �� �3��  ' 3$0��� ���
/$3 �'����� (��&�+: �� "&���"�) 

 
�.B 	
�����	
�+���Q$/��<O� 

      ��0���������������
����� ����!"���#�������	�$�� (Oil price shocks) "&�"���'�"&�
 ,  �

����(���$�)�� *�+�����������
 Vector Autoregression (VAR) $� 5 1�	�"����
��	  
 
      /
>�"����� 1: ��5�� Unit Root 
  �&�� �����'��$�#�&���������
 VAR ��	�"��
$���� �/�� Unit Root �� 3�
"���'� �%���$� �������������� ��4%�
���������1��$8���3��$����$�1��/$$"��&�1��$8���3��$����
��	���"��
$�����#� Stationary ��4� $�����#���%
 ����������0���� �/�� Augmented Dickey-

Fuller (ADF) ����� �/�� ��4%�
���/�$��� ����� �/��"���'�����#� �%�'- � Serial 

correlation ���&� Error term ( t� )  �%$�����#����$/�$.��0������
�������/8
 (High-order 

autoregression moving average processes) 
�� *�+���"���'�����������
$�����#� Stationary 

��.� Order of integration � &�����8�+� ��4� )0(I  �"&���$�����#��'-� Nonstationary ��.� Order 

of integration $��&�$����&��8�+� ��4� )(dI  �$4%� 0�d  5�%
�$4%�������1��$8� �%$�����#� 

Nonstationary $���������'��$�#�&��� ��������� Spurious ��4� �&� 2R  $��&� �%/8
$�� ���
�&�/��"� t  $���+/����9 �"&�&�/��"� t   �%
��������'��$�#�&�1�
1��$8� �%
$&��%
��	���$���������

 �%
$&��&���$�"�(�� ��
��	� ������"���
 t  $�"�(������������������ ������������/�3'��
���.���
�� 
 

      /
>�"����� 2: ��5������	� Lag ����Q<��5< 
  ��������
 VAR �'- ����'��$�#�&����"&��"���'�)�+�� (Endogenous 

Variable) �8��0���+*�+�������&����$�&������4��&������" (Lag) 1�
"���'�)�+����	� ���
������ lag 1�
"���'�)�+���4%� , ����������
 5�%
�$4%���������
 Vector Autoregression 

(VAR) ��	�$����$+�� Lag �'- � p  ���"&�� n  /$��� ��
��	���'��������+/�$'��/� 0�>  np  

��$���.���"����� (Intercept) *�+��� �/�����$������ Lag  �%��$��/$ ����&��
���&� ��� p  



 �	

��-�$�� ��������
��
$&�����+� �"&��� p  +��$�� Degree of freedom ��4� ��������$�'-���/��
���������$�/�+��+
�� ��
��	� ��
"��
$���� �/�����$������ Lag �.4%����$��$��/$�������� 
Lag $��������������
 *�+����4�������0� Akaike Information Criterion (AIC) ���&� AIC  �%$��&�
���+ �%/3� ��4%�
��� 1���1�
"���+&�
 �%���$����������$�1�����-� �4� 52 "���+&�
 (���+��&� 	0 

"���+&�
) 5�%
�����4�������� Lag ��� AIC ��� FPE �� ��������'��$�#�&�$����$�8�"��
$��
 �%/3�"�$
������+1�
 Liew (�

�) 
 

      /
>�"����� 3: !��<�?+%���������� VAR  
  �$4%�
�� ����� �/��������#�1��$8�1�
"���'�"&�
 , ���� �� ����� ����&���
��������
 VAR ��	� ��$�"���'������
 �%
���8�����1��
'����������
 ��$��
���"&��"���'���
$����$������ ��4� ���$+�� Lag � &�
��&���"&��/$������� ��
��	� ��������
 VAR ���+8&��
�8' thp -order reduced VAR  ��4� �8'���$�"�(�� �%�
'  �
1��$4�1�
�"&��/$���������
��$��"&"���'� �%�8�������$��&�� ���.������$�������4%�� 
���8�/$$"��&��'- � serially 

uncorrelated ���+���$�'�'����
 �%  ������"&��/$���������/�$��� �%��'��$�#�&�*�+���
*�+�����0������
/�
���+ �%/3� (Ordinary Least Squares: OLS) 
�� 5�%
�&�'��$�# OLS ��$�����#�
����
��
 ���$�'��/� 0�)�.���
�/�������� �$��&����$�������4%����$����$���$/�$.��0�1��$
/$�������-"�$  �	
��	  Seemingly Unrelated Regression (SUR) �-
$&
���.�%$'��/� 0�)�.1�
���
'��$�#�&� ��4%�
��� �&��������+1�
 3�/$�����$�"���'� �
1��$4���$4����� 3�'����� 5�%

���'��$�#�&���/�$����0���+��
����� �1�
����'��%+��'�
��������	�$�������" �%$�"&�"��
�'�"&�
 ,  �
����(���$�)����'���3���
�� "�$ !�2�1�
��������
 VAR  

 

      /
>�"����� 4: 	
�+���Q$ Impulse Response Function 
  �$4%�'��$�#�&���������
 VAR ����"&������	� ���'-���������������
 VAR  

 �%
��
' Impulse Response Function �.4%�.����#����"��/��
 (Response) "&����$�'�'���
�������'��%+��'�
�+&�
:��.��� � ��&�+��/&�����%+
���$�"�(�� (1 Standard Deviation 

Shock) 1�
������	�$�� �.4%��������� ��������������!"���#�������	�$�� (Oil Price Shocks) 

��4� ����'��%+��'�
�+&�
:��.���1�
������	�$�� �%$�"&�"���'� �
$�)�� ���&�
�������+���� 

����&�
����"&�
 , ������" ��
��	� ��
"��
$����'�����������
 VAR ����+8&���8'���1�
 

Vector Moving Average (VMA) �.4%� �%��
�� Time path 1�
 Shocks "&�
 ,  �%$�"&�"���'� �%�+8&��
���� VAR 5�%
�5"1�
/�$'��/� 0�>  i�  /�$������
'���/���
����� �1�
 Shocks "&� Time 



 �7

paths  �	
�$��� Sequence 1�
"���'�"&�
 , *�+������/�$'��/� 0�>  )(ijk�  "&�
 , 
'.�-�"
���6  �%�/�
����� �1�
 Shocks �+&�

��-"�$ VAR  �%�8�'��$�#�&���	�$�����#� 

Underidentified ��
��	��.4%� �%�� Identify impulse responses  �����"��
�/&1��������1�
 Choleski 

Decomposition �.�%$�1��
' 5�%
�'- �������������.���"&�
 ,  �%�+8&�"��/�� �+
$3$1�
�$ ���5� 
� &�����8�+� (Upper triangular matrix) ����
4%��
1 �%� ����� Choleski Decomposition �������

������+
������ (Ordering) 1�
"���'�"&�
 , �&�"���'���$��� �
"�
"&�"���'��4%� , $�� �%/3� 

����5"1�
/�$'��/� 0�>  i�     �4� Impulse Response Function �$4%�/�$'��/� 0�>  )(ijk�  �0���+
��
�&� �'- ����"��/��
 Period  �% i  1�
"���'� j  �$4%����� Shock ���&����$�������4%��1�
"��
�'� k  *�+"���'��4%��
 �% ��
��	�����$1�
����� � �%����1�	���� Shock 1�
"���'� k  

/�$���'��$�#
������&�/�$'��/� 0�> �� Impulse Response Function 

 

      /
>�"����� T: 	
�+���Q$ Variance Decomposition 

  ������������ Impulse Response Functions �'- �����������
����� �1�
���
�'��%+��'�
������	�$��:��.���"&�"���'�$�)��"&�
 , 5�%
�����.����#�����'��%+��'�
1�
"��
�'��"&��"�� �&�$�/��/&��$��������'��%+��'�
"���'������
����������
 "��
.����#�������
��������� Variance Decomposition ��4� ����+�/&��1�
���$�'�'��� 5�%
�'- ���0� �% �����
/�$����+�
���&�/��/&��1�
1��$8� �%
�������������
 VAR ��	�$��������'��%+��'�
 �%����1�	�
���"����
 ��4� 
���������� � �%����1�	�������/&
�&��1�
"���'��4%� , ����������
 �+&�

��-
"�$ Variance Decomposition ��$�'�9�� Identify 1�
 Shock sequences ��&����+���������������� 
Impulse response function ��
����'- �"��
�/&1�������� Choleski Decomposition ��&���� *�+.����#�
��� Forecast error variance decomposition ��4� ����+�/&��1�
���$�'�'���1�
���$
�������4%��1�
���.+���#�  �%���/�
��
/��/&��1�
������4%��
�������%
 Sequence  �%$���� 

Shock 1�
"���'���	���
 �$4%�� �+���� Shock 1�
"���'��4%� 
 


